

பின்னம் (சேர்த்தல்)

சரியான விடையைத் தேர்வு செய்க.

1. $\frac{2}{5} + \frac{2}{5} =$

● $\frac{3}{8}$

2. $\frac{1}{3} + \frac{1}{3} =$

● $\frac{2}{3}$

3. $\frac{2}{8} + \frac{1}{8} =$

● $\frac{4}{5}$

4. $\frac{1}{9} + \frac{4}{9} =$

● $\frac{3}{10}$

5. $\frac{2}{8} + \frac{3}{8} =$

● $\frac{5}{9}$

6. $\frac{1}{10} + \frac{2}{10} =$

● $\frac{5}{8}$

7. $\frac{2}{6} + \frac{1}{6} =$

● $\frac{3}{5}$

8. $\frac{5}{8} + \frac{1}{8} =$

● $\frac{1}{2}$

9. $\frac{3}{7} + \frac{2}{7} =$

● $\frac{5}{7}$

10. $\frac{2}{5} + \frac{1}{5} =$

● $\frac{3}{4}$